Ll Division

. Exercise-1
;. :a; 16Tg:3 (b) 10+2=5
: (“) 35‘7“2 (b) 18+6=3
o ,a) o =5 (w7x5=35) (b)) 27+3=9 (- 3x9=27)
(€ 18+2=9  (~2x9=18) () 40+8=5 (- 8x5=40)
(€) 25-5=5 (5x5=25) () 81+9=9 (v 9x9=81)
() 42+6=7 (- 6x7=42)  (h) 32+4=8 (- 4x8=32)
(i) 70+10=7 (- 10x7=70)
4. | Division fact| Dividend | Divisor | Quotient
; 15+5=3 15 5 3
: 28+7=4 | 28 7 4
E 45+9=5 45 - 9 5
. 56+8=7 56 8 7
4x5=20 |5x4=20 20+4=5 | 20+5=4
6x9=54 |9x6=54 |54+6=9 |54+9=6
1 |3x7=21 |7x3=21 |21+3=7 |21+7=3
: 9x8=72 |8x9=72 |72:9=8 |72+8=9
6x8=48 |8x6=48 |48+-8=6 |48+6=8
6x7=42 |7x6=42 | 42+7=6 |42+6=7
Exercise-2
1, 2 5 ) iy 54
- 5 <«—Isttime -9 <—Tsttime
R 45
_ - 9 <—2nd time
~ 5 <«—2ndtime - e iare
15 ' =9 <—3rdtime
— 5 <«—3rd time L D T '
S i -9 <——-4th time
= L .__-_9 "‘, :

s B (———Sth time -9 <-—6tht1me |

0 e : O s44 igud S

Scanned W|th CamScanner a



Exercise-3
1. 15+5=3

AN TN N e e

>

o o
01234567 8 9101112131415161718192021 22232425

2. 21+3=7

AV SO SA AR A

012345678 910111213141516171819202122232425

012345678 9101112131415161718192021 22232425

Exercise-4 «
1. 1 2.824 3.1 4.87 5.35 6. 172
7.0 8153 9.0 10.0 11.2670 12.0
Exercise-5 |
1. 13 2. 13 3. 43 4. 11
3) 39 4) 52 2) 86 65 66
-3 -4 -8 =6
09 12 06 AL 7
-9 -12 -6 = 6
L 0 e s
39+:3=13 52 +4=13 86+2=43 el s
5. 18 6. 12 72 13 8 '
4) 72 85 96 ‘ 5; 65 : 13
—4 -8 -5 7W
| T ~ 7
32 16 15 ; AR
-32 - 16 -15 21
0 0 T T 21
: ———— ———
72 +4=18 96+8=12 R e
9. 33 N+7=13
3) 99
-9
09
-9
99.+3 =33
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Exercise-6

L 7)—%‘ . 4TL18_ 3. 136 4. 101
g Ja 1) 472 6) 816 )
~2 _ y) olb 5) 505
— -4 -6 -5
g 07 21 00
0 -4 - 18 -0
16 32 36 05
| —16 - 32 36 ~5
0 0 0 0
276 +2=138 472 +4=118 816 +6=136 505+ 5=101
F & 89 6. 108 7. _ 43 8. 33
2) 178 9) 972 - 8) 344 7) 231
=16 -9 -32 - 21
18 07 24 21
~18 -0 ~24 291
0 72 0 0
~72 LR
178 =2 =89 972 +9=108 344 +8=43" 231+7=33
Exercise-7
- 605 3 1051 3 1298 4. 803
7) 4235 3) 3153 5) 2490 4) gglz
~42 - i M =32
TE 03 & 015 14 01
-0 -15 —10 | -0
35 03 49 | =12
_135 -3 ~45 A 1
g 0 40 s 0
T - 40 e Y
0

23557605  3153+3=1051 6490+5=1298 3212:4=803
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935 6

: 974
7) 6545 3

- 63 ) 2

_— -27
24 W T
91 22
5 e ——
12
=35 512
0 0

6545 + 7 =935 2922 +3=974
9. 1713

2 ) 3426
-2
14
-14
02
-2
06
-6
-0

3426 +2=1713

7000 6) 4284
G ) s
60 s

- 56 -6
40 T

—40 - 24

0 0

7000+ 8 =875 4284 + 6="714

Exercise-8

1. (@ 12
3) 38
-3 Quotient =12,
08  Remainder=2- _

—————

2

—————

11
(b) 4; 45
~4 __ Quotient =11,
02 Remainde‘_r-—'lr 7

—

-~ e ean A -

Verification:
€m .
3x12+2=36+0 -3¢ ainder

= Dividend i

- Verification
4x11+1=44+1< 45 :E‘?m_d.el‘ "
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(e)

2. (a)

(b)

~ 25
2

10
7) 72

5

02
-0
2

120
8 j 967
-8

16
-16

07

-0

7

351

2; 703
-6
10
~10
03
; ~2

Quotient = | |
Remainder =

Quotient =15,
Remainder =2

Quotient =10,
Remainder =2

Quotient =120,

Remainder =7

Quotient =351,

Remainder =1

| Verification :
Divisor x Quotient + Remainder
=5x11+3=554+3 =58 = Dividend

Verification :
Divisor x Quotient + Remainder
=5%15+2=75+2=77=Dividend

Verification :
Divisor x Quotient + Remainder
=7x10+2=70+2=72=Dividend

Verification :

Divisor x Quotient + Remainder
=8x120+7

=960 + 7 = 967 = Dividend

Venflcatmn
Divisor x Quotient + Remamder

=2 x351+1
= 702 +1=703= Dlwdend
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(c) 125

5 ) 626
Verification :

-5
% Quotient + Remainder

12 Quotient =125, Diviso
—10  Remainder =1 =5x125+1
26 —625+1=626= Dividend
-25
1
(d) 92
6) 557 Verification: ‘
—54 Quotient =92, Divisor Quotient + Remainder
17 Remainder =5 =6x92+5 .
=12 _ 550 + 5 =557 = Dividend
5
(e) 118

4) 474 '
_ Verification :
07 Quotient =118, Divisor x Quotient + Remainder
—4  Remainder =2 =4x118+2
34 =472 + 2 =474 = Dividend

-32

&

974

3 52923
57 Verification :
27 Quotient =974, Divisor x Quotient + Remainder

=21 Remainder =1 =3x974 + 1
13 =2922 +1 = RE
~12 2923 = Dividend

———

1

e———

3. (a)

(b) 715
2 ;
6)74—2—9—— Verificatjop, .

e 4’2 4. 35 7 .
09 Quotient = 715, _DWI»SOr X Quﬁtiént + Re i
—6__ Remainder= 2 Tedba. Remainder
=429( yini i :
32 T2 429 _
30 SR

/ 2
_Z
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(c) 808

6 ) 4853

— 48
e o Verification :
5 &uotl'ent =808,  Divisor x Quotient + Remainder
= Remainder =5 =6 x 808 +5
o = 4848 + 5 = 4853 = Dividend

a1

(d 1360
7 ) ;)7526
B %? . Verification :
i Quotlf:nt =1360, Divisor x Quotient + Remainder
a 45 Remainder =6 =7x1360+6
0% = 9520 + 6 = 9526 = Dividend
-0 |
6
(e) 1195
8 ) 59;567
15 | Verification :
§ -8 Quotient =1195, Divisor x Quotient + Remainder
. 76 Remainder =7 =8x1195+7
i = 9560 + 7 = 9567 = Dividend
47
—-40
7
Exercise-9 1
1. Aditya has 92 toy cars. He puts them equally in 6 boxes. 65—55_
, Number of toy cars in eachbox = 92+6 -6
. "““We get15as quotient and 2 as remainder. g gg
So, Aditya will put 15 toy cars in each box 3
‘and 2 toy cars will be left over. S Ve
2 Ra]at packs 8 balls in one box. 8V 168
o Number of boxes needed to pack 168balls =16
| I D R Rk
50, 21 boxes will be needed to pack 168 balls. e
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3. Number of apples in each box =435 +9

We get 48 as quotient and 3 as remainder.

So, the fruitseller puts 48 apples in each box and 3 apples 75
are left over. 25
4. Total number of chairs =228 \3%\
Total number of rows =7 723\%8
.. Number of chairs in each row =228 + 7 18
We get 32 as quotient and 4 as remainder. %

So, 32 chairs are needed in each row and 4 chairs are extra.

S ) )

5. The height of a mountain=7821 m ' . 7;3;?
Raja took 9 days to reach the top. T—72
He covers equal distances every day. _ gﬁ
The distance covered by Raja everyday = (7821 +9)m 81
‘ - - 81
= 869m o
So, Raja covered 869 m daily.
PR 1219
6. Aboxcanhold? bottles. - 7Y 8533
Total number of bottles to be packed = 8533 B =
Number of boxes needed =8533+7 - 14 f.
- 13 |
=1219 7
So, 1219 boxes will be needed. | . gg
Exercise-10 ‘ -
= : R Ll 0- ; .._____ :
2. 463+10 p ik ~ B
4. 1209+10 e 8{4 6 R =29 g
5. 629+100  F 0, R=9,
6. 7994100 T O 4, R=92 .
7. 4792 + 100 = >
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e s e

~ 8320+100 = Q=83, R=20.

8
g, 5431+100 = Q=54, R=31.
10. 9297 + 100 = Q=92 R=97.
Mental Maths Corner
L. 5 2. smaller 30
4, 44,94 5. 317,3
| Review Exercise
11 (b) 127

5; 56 3; 382

-3 Quotient =11, -3
08 Quotient = 127/

06 Remainder=1 .
- -6 Remainder =1
g 22
-21
1
| 137
(c) 140 . (d)
6) 825
4 s 563 i
— ' x 62 ient =137
16 - Quotient =140, i %8 Quohfrnd ot '
= 1._6_ __ Remainder =3 T Remainaer
03 0
-0 _T
3 wli
769 f) )__1923_
(e) 9) 9298
7 ; 5384 i ‘
- 49 ——0—2———
28 Quotient =769, 0
-42  Remainder = 1 PRTTIONE
BB e i —5 Quotient =103
AR e |  _57 Remainder=1
. _ | 1
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7. 2472 students are divided equally into six houses.

Number of students in each house
= 2472 +6
= 412

So, there are 412 students in each house.

3. 1788 kg of rice has to be packed in 7 bags-
The weight of each bag = (1788 ~ 7) kg
1788 + 7 gives 255 as quotient and 3 as remainder.

So, each bag weighs 255 kg and 3 kg of rice will
be left over.

34752 +9
_ = ¥528
So, each student contributed ¥ 528.

4. The amount each one contributes

| HOTS
The largest 4-digit number is 9999.
First we check whether it is divisible by 8 or not.
9999 + § gives 1249 as quotient and 7 as remainder,
So, we subtract 7 from 9999 to m\ake: 1t _"**““Y di,"is‘ible e

9999 ~ 7 = 9992

So, the largest 4-digit number exactly divisiblé b | 8 :
y 139992 i g |

6) 247

255

75 1788

- 14
38
- 35
38
=35

528

" 9) 4752

—45
.25
-18
72
-72

5

:
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